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20218 & AMSHEHSACH =1 82 WAtk
S| ;2021 3" 1Y 2 20224 28 282U }HK (92
o= 2021 £ & SE O A =JUNE" ,
EUE
2 gr = (A) (B) (A—B)
2w 4,792,014,441 3,137,700,000 1,654,314, 441
10000
2HEsoZsEZ22¢ 4,792,014,441 3,136,200,000 1,655,814, 441
OH
11000
ArSHE 2 Ao 376,930,911 70,120,000 306,810,911
11200
nesosol 370,240,000 50,000,000 320,240,000
1)BLSLLE 2 A = = 240,000
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Ezc?oooqu 4,055,211,660 2,711,360,000 1,343,851,660
U= ST
521004/\0! 4,055,211,660 2,711,360,000 1,343,851,660[1) 2 2LH19 SHAIAIY NEEXR=222(1X) = 110,000,000




2021 =2 OflaH S Ofl Ao EJVNED AEY
2 5 = (A) (8) (A-8) -
SHAIAIY DEEX 249 (25}) = 7,783,660
12201 3 A DI2Y 2t = -52 160,000
nESA 4,055,211,660 2,711,360,000 1,343,851,660
=T QALY = = 1,258,228,0002
BX3: AF XY =% = 20,000,000
1;2|SE?%94:A0| 45,000,000 139,720,000 94,720,000
H 20IAAl 2% = —1,000,000!
HAH(OHEAI) Z% = 5,000,000
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12101 2)2022 2ES AR QlHH SH = 4,333,320
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12?3093 1,649,528,650 1,541,670,000 107,858,650
wWE29Y|
1) 22 LHOSHAIALY Ol 24H| = 28,640,000
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12301 E=gse SAH(CHSAl) S = 11,000,000
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14105 1 SOtel X AE X2 E = 500,000
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22105 NESHSSATIEAS ZIIHIE 2o = 19,116,2702
5,400,000 2,516,270 A 27,116,270

IIbIS0He
2)HIEXMM2SHE EIIHIS 2 = -8,000,000&

DEAESME HAZOITAMAT 2 = 11,000,000

22108

H A= IR AN O 254,400,400 782,961,730 A 528,561,33005) y o pystai Al KR AL 2EZQIRIAINCICH 204 = 507,561,330
BAMSEABESAAIY HAZOIXAMAN 2% = ~10,000,0002!




=

=

=

s 2021 £ Gi&ted | g oo E(a)2 -
s
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